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Unit is compulsory. All questions carry equal marks. PriE & afRe s 6,000 8,000
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‘The higher the R. O. I. (Return on investment) the better is

, .. . . Rakesh Ltd. is contemplating to invest in a new machine so
the corporate management.” Critically examine this ] )

) T o that present method of production by manual labour is
statement with reference to profit maximisation objective.
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eliminated. The management has two alternatives A and B in
respect of which the following information in available :

Machine

A B

) )
Cost of Machine 75,000 12,0000
Estimated life 5 yrs. 6 yrs.
Estimated Saving in scrap 5,000 7,500
Estimated cost of indirect materials 4,000 4,500
Estimated savings in direct wages 45,000 60,000
Add. cost of Maintenance 2,500 5,000
Add. cost of Supervision 6,000 8,000
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The following is the capital structure of M Ltd. :

Depreciation may be taken on straight line method. Assume
Tax rate 50%. Evaluate the two alternatives by using :

(i) Pay-back period
(il)) Unadjusted return on average investment method
(iii) Net present value Index Method (Cost of Capital is

8%)
FPR—2
(UNIT—2)
M fol. 1 ol EReT e @
I qed | d6R e
R) R)
EALP 3,00,000 | 3,00,000
Q@R 379 ol 2,00,000 | 2,00,000
FHAT 3% Yot 4,00,000 | 7,00,000
gfcremRa g 1,00,000 —

(A-69) P. T. O.

Book Market
Value Value
) )

Debentures 3,00,000 | 3,00,000
Preference Share Capital 2,00,000 | 2,00,000
Equity Share Capital 4,00,000 | 7,00,000
Retained Earnings 1,00,000 —
The after tax cost of capital of specific source is as under :
Cost of Debentures 4.77%
Cost of Preference Share Capital 10.53%
Cost of Equity Shares Capital 14.59%
Cost of Retained Earnings 14.00%

Calculate weighted average cost of capital by using :
(1) Book value weights
(i) Market value weights

(A-69)
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(@) ISl B AR B ARV & FEd DI WL DI |
Explain the importance of the concept of the ‘Cost of
Capital’.

@ o1 Yol @ AN B TOMT [ wHesy | i arad o
o1 Yol Fwi g © ?

Explain the method of calculating cost of debt capital.
Is really cost of debt capital cheap ?

TPE—3
(UNIT—3)

ol wiiaRyT ¥ oY T e © ¢ ‘Sed Yoil axilexor Ud
e o e T A e A ek S d
fSoTgd ® 399 He & THIMSY |
What do you mean by Capital Gearing ? Explain the terms
‘High Capital Gearing’ and ‘Low Capital Gearing’ and
discuss their significance in capital structure designing.

qar

(Or)
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Explain the concept of operating leverage. How will
you measure the degree of operating leverage ?

@ e HE B g A R Tee Sude g8 §

3
AT 3fE Yot (% 10 ufa o) 10,00,000
FOTF (14%) 30,00,000

(A-69) P. T. O.

(b)

[6] D-3071
fasa qeu Ui sarg 50
gRad=eii| ad ufd gaTs 30
ReRr @rTa 12,00,000

G I H 100000 SHSAT BT STET IR @ B
T B I DI AT IARH H 25% B g B Dl
T B B R 40% 2| feme 9 Fafd Sored 'R @
ﬁﬂw IR I AT FRAT B

() URETeH el
(i) fa<irr ofrRst
(iif) UfT 37T M

The following information is available in respect of a

company :
3
Equity share capital (X 10 each share) 10,00,000
14% Debentures 30,00,000
Selling price per unit 50
Variable cost per unit 30
Fixed costs 12,00,000

The company is producing at present 100000 units.
Management of the Company’s plan to increase output
by 25%. The tax rate is 40%. You are required to make
out the following calculations for the existing as well
as planned level of output :

(1) Operating leverage
(i) Financial leverage
(ii1) Earning per share

(A-69)
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TPIE—4
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Explain the relevance concept of dividend policy. Describe
the Walter’s formula regarding dividend policy.
34T
(Or)
(@) fefo w e fewfor foriay -
() 99 37
(i) gge oI AT & o™
Write short notes on the following :
(i) Bonus Shares
(il)) Advantages of sound dividend policy
@ oM yew ffaRad o 9 dleey Aled @ IER
TP B B T S B Agliie doR qed iR
DIFTT

THAT Dl 3 30 A
GIEINK UG % 10 Y
3TST 3f @Y R 200000
A 3 3 10
faf T ® o & R 12%
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(A-69) P. T. O.

5.
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From the following information supplied to you;
determine the theoretical market value of equity shares
of'a company as per Walter’s model :

Earning of the Company % 30 lakh
Dividend paid % 10 lakh
No. of shares outstanding 200000
Price earning ratio 10
Rate of return on investment 12%

Are you satisfied with the current dividend policy of
the firm ? If not, what should be the optimal dividend
payout ratio in this case ?

35

(UNIT—S5)
U fofics & HaTee Avsd a¥ & forg MR SRIeH 31
T &1 & forg smavad wrfefer $oft @ IRy ST ared 2
< e qE @ verd onife fagr AT gR1 eriEle ot @
SNSINECHIENE

() fifea ofer goit % 4,00,000
5% FEUTTH % 1,00,000
WY TRk T W % 2,50,000

(i) T P I ed W AT ST &

ol e 60%
Bl 10%
SURIY 20%
am 10%

(A-69)
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(iii) Foar A R H SNIae < WIE @ foly T W g,
(IR ATl TIeM ¥ 3N OF A1 & ot <xam rm 2

(iv) T a9 H ST 120000 IHEAT AR A1 a9 H N 59
TG WR BT 1 G B o & |

(v) SR @ YIS SHE Sed Ui § Ue AIE d@
& T

(vi) STfiETarell gRT Ued WRI 31 A8 3R D $ & Ty
g fiF AR £

(vii) T3 9 T 5 9f7 5T 2|

(viii) ScTEd T fae &1 7% Rt 2

The Board of Directors of X Ltd. wish to know the amount
of Working Capital which will be required to meet the
programme, they have planned for the year. From the
information given below, prepare a Working Capital
estimated by Projected Balance Sheet Method :

(i)  Issued Share Capital % 4,00,000
5% Debentures % 1,00,000
Fixed Assets at Cost $2,50,000

(i1) The expected ratio of cost of selling price are :

Raw Materials 60%
Labour 10%
Overheads 20%
Profit 10%

(iii)) Raw Materials are kept in store for an average of two
months, Finished goods are kept in warehouse for
approximately three months.

(A-69) P. T. O.
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(iv) Production during the previous year was 120000 units
and it is planned to maintain this level of activity on

the current year also.

(v) Each unit of production is expected to be in the process
for one month.

(vi) Credit given by suppliers is two months and allowed to

customers is three months.
(vii) Selling price is ¥ 5 per unit.
(viii) There is regular production and sales cycle.
Jar
(Or)
(81 ABC fawelyur & o9 @I GHed & ? 39D oMl &1 que
HIRTY |

What do you mean by ABC analysis ? Describe its
advantages.

@ <ipe ye @ fafe @O @ R @R Sy |

Explain in detail the various steps of Cash

Management.
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